Chapter 8 Exam Review Problems
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a) Eln —5 +C b) Em;—l_JrC c) 51n|(x—1)(x+2)|+C

@) (nfr-1)(in}x+2)+C o) In|(x-1)(x+2)|+C
a) -6 b) -3 c) 0 d 6 €) nonexistent

3. Find the area of the region above the x-axis and below the function y = x/4—x .
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4. Consider the graph of y =xe ™.
Find the area under this graph of the curve between x =0 and x=2.

X—COSX

5. Consider the function (x)=
x

a) Find lim A (x).

X—>

b) Set up the integral needed to find the area under thé graph of 7 (x)
between x =1 and x =7 (above the x-axis). Do not solve.



Ideas for you to be familiar with, but will not be on the test tomorrow.

6. Which of the following is equal to J.
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a) arcsin g +C b) arcsinx+C c) %arcsin % +C

d) v25-x*+C e) 24/25-x* +C

7. The equation of the curve shown on the rightis y =

What does the area of the shaded region equal?
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